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M = mole = mole
litre

dm3

mole = ___gm
M-W.

= 0 -200 ha

ia% = mole x M.W.
3

= 0 . 2 0 0  x 1 0 6

= 21 .2 na"81

3 8 CH 334 (H)



~PNnl-2 500 aJ%LWW%NJs%~EDTA zz 3.722 x 500
1,000

= 1 .861 n-Z

94 0

aswi 'hPaaU BaClt .2H,Odal? 0.075 x 250= ha
1,000

= 0.0188 -ha

z2 mole x M.W.

7 0.0188 x 244

= 4.57 n%
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17= 250 x 6 . 0 x
1 , 0 0 0

= 94.44

NH,  dfl 0 . 9 0  f6.J &%JlGl5Lt’il6J = 1 BJa.

*. . NH, ?-YIk 94.44 fI%J .fd~tilWIL?I?6~ 1 x 9 4 . 4 4= ua.
0 . 9 0

= 105 ua.
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naluriasihLwl~ = 1.420

&~Gnbwaqa = 63.01

% Assay = 69 - 70%

= 70.42 ua.

7 7 0  x 1 , 0 0 0
70.42
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v = 1000 x MM'
pd-

4 2 CH 334 (H)



L.3
'tbebncl Vx6 0 .2 x 250

1,000 = 1 , 0 0 0

V 0 .2 x 250=
6

250 BJR.
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no.eq.wt.
-

N zz

litre

ng.eq  .wt. molecualar  weight=
change of oxidation state

no.wq.wt. 4=
eq.wt.

MnO, + 5Fe 2 f t 5Fe 2+ t 8~ f - Mn 2-F t 5Fe 3+ t 4H,O

158.0
5

= 31.6
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*. . lhvGlva~ KMnO = 0 .1 x 31 -64

244.24=
2

&NziY BaCl,.

= 0 .I n%my

2H,O  = 0.1 x 122.12 n%

zz 12.21 n?u

cr,o,2-  + 14 nf t 6 ea 2cr3+ + 7H,O
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=
6

2 9 4 . 2 4=
6

= 4 9 . 0 4

0.15 x 250:
1 , 0 0 0

=_ 37.5 x 1 0 -3 n-hu~a

= 37.5 x 10 -3 x 4 9 . 0 4

= 1.84 n%
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N, V, = N, V, . . . . . ( 3 . 2 )
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N,  “1 = NV

5.oxv =I 0 . 2  x 2 5 0

v = 10 aJa.
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&&mia Na+ 0.01 fl%J~cIIs!% NaCl = 58 .5 x 0.0123

= 0 -2543 n%.

KhmiuaJa1aacaw 500 aJa. Ptx%4 50 x 500
1,000

EC 25 OaGnG

K, SO, = 174 .26

&Gosnis  K+39.1  n% &lsI% K, SO, = 174 .26 n<u

%&I~nl3  25 x 10 -3n?u bosI+
174.26x25x10-3= - - - - - - -

3 9 . 1 x  2

.  .  .  ib~t!-i?  K,  SO4  M$fl = 0 . 0 5 5 7 rl-5.
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plaia&oI& (ppm)
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pH - pKa . . . ..(3.3)

M% [BH+Ilog ___ =
[Bl

pOH - pKb . . . ..(3.4)

94 0

ami [KHC,  H,  0, 1
l o g  - - - -

tC,  H6 0,l =
2 . 5  - 2 . 8 6

zz -0 -39

iKHC,H, 0 , 1

[C,H,O,l  = '-*07

[C,  H, O4 1 = 1

[KHc, H, 0 , 1 = 0.407

5 2 CH 334 (H)



= 0 . 5  x 1 6 6 . 1 4 r&

= 83 .O 7 nT’aJ

[KHC,H~O~~ = 0 . 4 0 7  x 5 0 0 1 ala
1,000

= 0 .203  x 204 .22 tl5J

= 41 -70 n?u

pOH  = 14-pH = 14 - 10 = 4

[OH-] = ,o-~

log [NH~c~I
= pOH - pKb

[NH, I

[NH,c~I = Kb

[NH~ I [OH-I

1.8 x 10 - 5zz

1o-4

= 0 .I 8
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. . . &.l~lTY NH, ‘=

z 0.1 x 17 =

(hTibbZJLa$lR  NH, = 17)

27%
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